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Questions

Flower of which plant is pollinated by wind:

The male reproductive part of flower is:

Every mature ovary is called:

The unit of Androeciumis:

Every ripened ovule is called:

The outer most whorl of flower is called:

Double fertilization results into:

Ovary ripped and converted into:

Ripened ovary is called:

The female reproductive part of flower is:

The male reproductive part if flower is:

The whorl of carpels in a flower is called:

Answers Choice
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Rose

. Sunflower
. Grass
. Butter cup

. Gynoecuim
. Androecium
. Corolla

Calyx

. Seed

. Fruit

. Flower

. Sporangia

Gametes

. Pollen Grains
. Anther

Stamens

Leaves
Flower
Seed
Fruit

Corolla
Petals
Calyx
Androecium

Ovule
Egg

. Triploid Endosperm Nucleus
. Diploid Endosperm Nucleaus

Seed

Fruit
Flower
Sweetness

Sperm
Seed

Egg
Fruit

Carpels
Sepals
Petals
Stamens

Stigma
Stamen
Ovary
Carpel

Calyx
Corola

. Androceium
. Gynoecium



